SuMPO EPD SUMPOERIESANINTOIS L

SE“M":’;DD — AR A AT S AR
.. S4TNEBEBEE (EPD) T AR A 1-14-8
VERIFIED KANDA SQUARE GATE
E#EFES ¢ JR-AI-25458E https://ecoleaf-label.jp

FUJFILM

Value from Innovation

BIOMIL EYRR A/ -3 RRT
FUJIFILM Business Innovation Corp.

FUSFILM A3 735—%5/5\%%
A3 Color Multifunction Printer
1 — Apeos C3061

(Model-CPS-B+1 Tray with Cabinet)

L for E
— = (for Europe)

Apeos. Apeos 0. ApeosPro. ApeosPort . $&U ApeosPrint (&, ELIAIVAES KRS IR RS OEREIRE(SEZETY,

BETEHENM ERES JR-AI-25458E
EFAPCRES PA-590000-Al-08
WE1EHEY
PCR% CIEINEpal
BEEX REXPE NS 2026568 1H
| f=8ad) O e s A WIEEEE 2026538 10H
OEREMEZE Q4EE @F@ OfEA - #iF RIAAFR YATLREAAR
ORZE- UYL RIAES 2025-FB-EL-102
MREAEE%EAR 203143 89H
A0 K, TEMLEKR-FET PCRLE1-DENE
itk : Apeos C3061(Model-CPS-B+1 Tray with Cabinet) STEHEZ 2023F 98 18
FEMLK - HI-EEHE EPAR) FER #lk Ex
ENRERE : £/70 30ppm (A4 LEF) (FRE —MtEBEAY AT T IR E HE X1
15— 30ppm (A4 LEF) B=FBRIE* B HT
SRAFTIX A3, 11x17" NEBIRIES
TV /AE-/AF Y
T EFIRIKEE/ADF(EFS B Eh55AH) ISO14025( 212 AT E R UT -5 DIRIL LIAREE
COARER W HLER
*YAT LRI E R (TEEEERNORIEDISEF. YATLRIAEIT>EEEED
LEETH.

Buahtse BEIMIWAESHRIAINR—>3>RAEtt
EaEmAXAREHFSV6THIE
https://www.fujifilm.com/fb/

F5&ES © JR-AI-25458E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPORIESANITOIT A

SuM

E p D SuMPO EPD —AREAY AT IR S HEERE
°| .0 H4TNBIBEE (EPD) HRBTRAXAME-14-8

VERKELED KANDA SQUARE GATE
BiREs JR-AI-25458E https://ecoleaf-label.jp

F1IY1 I Ve EFHERE R

o . - B - HEFF
BREFERRE | ELERR TR R e BB
"X
SMEZEE) - &5 kg-COzeq 4.80E+02 2.42E+01 8.32E+01 1.31E+02 9.57E+01
AV BHIE kg-CFC-11eq|  3.70E-05 3.89E-08 2.91E-08 3.21E-06 1.21E-08
EXREL kg-PO.3-eq 1.69E-02 6.21E-04 2.17E-04 4.70E-03 1.15E-04
2324 kg-SOzeq 1.57E+00 1.64E-01 6.13E-02 5.24E-01 9.70E-02
HALRAFIIV kg-C2H.eq 8.97E-03 2.19E-05 4.07E-04 1.10E-03 8.28E-04
FEMERMB - LY kg-Sbeq 6.52E-01 9.10E-05 1.54E-05 4.57E-02 1.66E-05
F1ITH1 WA IRY B iR EE B IR
—REBROFERICETBIEIZ
BREFERRE | BLERR TR R 2 E"K:f 5 BB
"X
BAAEE—RER - IR)L¥- (RPRy) M) 1.20E+03 2.09E+02 1.12E+01 5.59E+02 3.74E+01
BAEAE—RER - TRVE-2B7E (RPRy) MJ 2.11E+01 3.46E-03 2.92E+02 6.57E+02 8.15E-03
FEBEAIRE—RENR - TRILE— (NRPRy) MJ 8.35E+03 8.45E+02 9.59E+02 2.90E+03 5.05E+02
BT —RE - TRH-2BHE (NRPR,,) MJ 1.35E+03 2.64E-01 2.86E+00 2.17E+02 7.72E-02
KAKDHES m? 4.22E+00 1.76E-02 3.07E+01 6.93E+01 7.13E-03

HERRICETSEMER

A-0vEEEFERELTERELELE,
-EAEEPAR)DZEYFUATEELTVET,
‘R R OEEFERPMEESERTT,
-(E R - MR BSICB I RENRI RO BT I EENE A,
EABOBAE, IRNF-R5-T0Y5 LVer3 28 (R >TRIE LETECEZ TTICEELELE,
- A8 7E ENRIMER (S, 135,00042 T,
1/4 %30 (Y37/B) x 15 (#) x5 (B) x 4 (B) x 12 (v B) x 5 (%) = 135,000%%

Z Dt DIREREIFIR
CIRINF-R9-T0Y5LVer3.2 BE,

MEBELUMEICET 2B S FEMHICETZIER

- mE (ERES) By 15H CAS No. ERE
i@ 40 kg - - _
Sus 0.20 kg - - -
FIVEZIL 14 kg
ZofEE 59 kg ERALEZRT-90EXH
T3AFvY 31 kg FEAI, LCIT-5N-RIDEA Ver3.4, SUMPOREININTOI S LEFET -5
BN 0.46 kg Ver.1.16ZfEALTVEY,
A3 13 kg
LN 14 kg e
REREEER 0.81 kg -
ZiER &R 3.2 kg
Z0ft 3.9 kg

OT-FHEDH XL PCRELUVEE - EERBESRBL TS,
OLLERIIDVTR, BEE - EERBCREINERGEHELESELLARDONE A,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

